Converting Polar Linear Equations.notebook December 05, 2018

%=r-Coso- Y= I-Sine- £0m4}.—i
Q5 2 .
a0 (59)

nverting Equations (Polar/Rectan

Convert the following equation from its rectangular form to its
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Convert the following equation from its rectangular form to its

polar form: r . COS'B' = i

\fonvert the following equation from its rectangular form to its
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Convert the following equation from its polar form to its

Z \ rectangular form.
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( Convert the following equation from its polar form to its
rectangular form (hint: complete the square is needed)
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\Q_ Convert the following equation from its polar form to its
rectangular form (hint: complete the square is needed)
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Converting Polar and Rectangular Equations: Practice

Write each rectangular equation in polar form.

1. x2+ y2 =36 2. x2+ y2=13y

3. x=-2 4. y=6

5 x2+(y+3)2=25 6. x2+y% =6x
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Write each polar equation in rectangular form.
7. r=4 8.r=4cos#

9. r = 5sin(0) 10. r = Scos(0)
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WRITE THE OTHER FORM OF THE GIVEN EQUATION

1. (x—3)%2+y%2=09

3. r = 4cos(0)

4.x2+y?2=3

5. r = 2sin(60)

6. y=—4



